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SAT(K-10)

PHYSICS

In transformer mutual induction
takes place, if the input is

1) AC signal 2) DC signal
3) Onlyat11 KV  4) Onlyat220V

During Nuclear fission
1) Heatis transformed into energy

2) Radiation is transformed into
energy

3) Weight is transformed into
energy

4) Mass is transformed into energy

The spectrum which represents
simple harmonic motion is

1) Electronic spectrum
2) Vibration spectrum
3) Hydrogen spectrum
4) Continuous spectrum

When a stone is dropped into the
lake, the produced waves are

1) Transverse waves

2) Soundwaves

3) Longitudinal waves

4) Electromagnetic waves

A vibrator generates the waves of
the speed 330 ms' and
wavelength 0.8 m. Then the
frequency and time period is

1) 264 Hz, 0.0037 sec
2) 42.5Hz,0.0024 sec
3) 412.5Hz, 1.250 sec
4) 264 Hz, 0.0030 sec
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2) 42.5Hz,0.0024 sec
3) 412.5Hz, 1.250 sec
4) 264 Hz, 0.0030 sec
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6. In which of the following set, the
materials are arranged on the
basis of ascending order of their
refractive index ?

1) Air, water, silicon, diamond
2) Air, silicon, kerosene, diamond
3) Air, water, diamond, silicon

4) Air, alcohol, silicon, diamond

7. Match the following :

Group—A Group-B
i. Intake stroke a. Air and petrol
mixture is
ignited

ii. Compression b. Piston moves

stroke away from the
spark plug

iii. Ignition stroke c. Outlet valves
open, gases are
pushed out

iv. Expansion d. Piston moves

stroke towards the
spark plug

v. Exhauststroke e. Heat and gases
are released

y
2

)i—Db ii—d iji—a iv-ev-c
)i—d ii—b ji—a iv-ev-c
3) i—b ii—d iji—-e iv-av-c
)

4) i—b ii—e ii—d iv-av-c
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8. Array of light passes from denser
medium to rarer medium, if
thickness of the denser medium
is doubled, then the emerging
angleis

1) Also doubled
2) Reduced by its half
3) Not affected

4) Critical angle

9. The current and voltage between
AB and BC in the given electrical
network

2k0

[
2V 2V

1) atAB:1=2mA,V =4V and at
BC:1=2mA,V=2V

2) at AB:1<2mA,V =4V and at
BC:1<2mA,V=4V

3)at AB:1<2mA, V=4V andat
BC:I>2mA,V=2V

4) at AB:1=2mA,V =2V and at
BC:1=2mA,V=2V
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1) atAB:1=2mA,V =4V and at
BC:1=2mA, V=2V

2) at AB:1<2mA,V=4Vandat
BC:1<2mA, V=4V

3)at AB:1<2mA,V=4Vandat
BC:I>2mA, V=2V

4) at AB:1=2mA,V =2V and at
BC:1=2mA,V=2V
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10. Which of the following group of
the ray diagram correct ?

B
s 1
R I o
F F T F b
-1
a

A=
A

F S 5\"’ 
N
1) a,bande 2) b,cande
3) d,candf 4) a,eandf

11. Anelectron enters a magnetic field
at right angles to it, as shown in
the figure, the direction of force
acting on the electron is

electron

A

magnetic
field

YyYYyYYyYY

1) towards right
2) towards left

3) out of the page
4) into the page

12. Who among the following is
honoured by awarding ‘Bharath
Ratna’?

1) T.N. Guru Rao
2) C.N.R.Rao

3) Ajim Premiji

4) Narayana Murthy

10. 3R QCRTLT CIRT BeaTRIZAY THOF)
TOCINT ?

1) a,bxd e 2) b,cR e
3) d, c = f 4) a, e DR f
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» field
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NegRIRNS ?
1) 3.7, MOTOTOR®
2) 2.27°.$0°. ToR°
3) w2’eo Heasrese
4) SOTo0NED WREE
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13.

14.

15.

16.

17.

CHEMISTRY
The example for
non- biodegradable pollutant is
1) Sulphur-di-oxide

2) Lead vapours

3) Sewage

4) Corrugated cardboard

The material which does not have
fixed melting point is

1) Plastic 2) Metals
3) Glass 4) Ceramics

The type of glass used in the
manufacture of lenses is

1) Borosilicate glass

2) Potash lime type glass
3) Soda-lime glass

4) Lead glass

The action of syringe is an
example of

1) Charle’s law

2) Graham’s law

3) Boyle’s law

4) Diffusion

Examine the following statements
and select the correct option.

A : Electrolytic conductionis a
physical change.

B : In Electrolytic conduction,
positive as well as negative
ions conduct electricity.

1) Both ‘A’ and ‘B’ are true

2) Both ‘A’ and ‘B’ are false
3) ‘A’is true and ‘B’ is false
4) ‘A’ is false but ‘B’ is true

13.

14.

15.

16.

17.
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18. K metal ‘A’ displaces metal ‘B’
from its solution, it shows

1) Metal ‘A’ is more reactive than
metal ‘B’

2) Metal ‘A’ is less reactive than
metal ‘B’

3) Metal ‘A’ is equally reactive as
metal ‘B’

4) Metal ‘A’ is not at all reactive
comparedto ‘B’

19. The example for exothermic
reaction is

1) Melting of ice cubes

2) Decomposition of vegetable
matter into compost

3) Cooking an egg
4) Baking bread

20. The chips manufacturers usually
flush bags of chips with this ‘gas’
to prevent the chips from being
oxidized and become rancid.

1) Oxygen
2) Hydrogen
3) Nitrogen

)

4) Chlorine

21. The pH value of Gastric juice,
Lemon juice, Milk of magnesia,
Sodium hydroxide solution
respectively

1) 2.2,1.2,10,14
2) 1.2,2.2,14,10
3) 1.2,2.2,10,14
4) 2.2,1.2,14,10
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22. Match the terms used in
metallurgy with their meanings.

A. Roasting i. Heating the ore
just below its
melting point in
the absence of air

B. Calcination ii. Unwanted
impurities present
in the ore

C. Gangue iii. Heating the ore
just below its
melting point in
the presence of air

D. Flux iv. Process of
increasing the
percentage of
desired component
of the ore

v. Substance added
to ores to remove
unwanted impurities

)A—-i B-iii C—ii D-v
) A—iii B—-i C-iv D—ii
3) A—iii B-i C—ii D-v
)A—-i B-—iii C—v D-ii
23. “The properties of elements are

periodic functions of their atomic

number” is given by

1) Mendeleev

2) Doberiener

3) Newlands
)

4) Moseley
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BIOLOGY BeTTE
=

24. In frog oxygenated blood and 24. 330 RTONTY BWRT TeoB 70

deoxygenated blood gets mixed up STHwRE T3 TF @;gsamm;é)d%
dueto ZOTMD
1) Two chambered heart 1) 2% ZReRRY %cﬁo&;
2) Three chambered heart
2) PR BREHBNY HTION
3) Four chambered heart
3) SO, BREHNT T WO
4) One chambered heart
4) 2,000 BREFFOD Ty oD
25. Which one of the following is
l’
correct matched set 2 25. 930RRYNTY TOGRA thReRAT
A B moF) o8P ?

a. Flower i. Female © ©
reproductive . B i ey HomReezs
part on

b. Calyx and Corolla ii. Reproductive . IR g . BovRecTymE
whirl DT, R W, R

c. Androeciumand iii. Male . Rosexs iii. riow BozoReezme

Gynoecium reproductive eelele o givetch] o
part S

d. Ovules iv. Reproductive . womene V. WD HozsRlecs

part of a plant zon
. . Joondecwned V. TTONT 333N

e. Pollen grains v. Accessory 9

whirls 1) a—iii b—iv c—i d—iie—v
1) a—iii b—ivc—-i d-iie-v 2) a—ii b—iii c—ivd—-ve-i
2)a-il b-ill c-lvd-ve-l 3) a—iv b—v c—ii d—i e—ii
3) a—iv b-v c—ii d—i e—ii
4) a—iii b—ii c—ivd—i e-v 4) a—iii b—ii c—-ivd-i e-v

10
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26. The correct pathway of reflex
arcis

1) Receptor — Effector — Afferent
neuron —s Efferent neuron —
Association neuron

2) Receptor — Efferentneuron —
Association neuron — Afferent
neuron — Effector

3) Receptor— Association neuron
— Afferent neuron — Efferent
neuron — Effector

4) Receptor — Afferent neuron
Association neuron —s Efferent
neuron — Effector

27. The algae which is used in the

manufacture of potassium

1) Gelidium

3

)

2) Porphyra
) Laminaria
)

4) Chlamydomonas

28. Companion cells are important in

phloem tissue because

1) It gives mechanical support to
sieve tubes

2) It controls the flow of food through
sieve tubes

3) It conducts the food through it

4) It holds the position of sieve cells
in place

11

000
26. ITRTAFT I TOOIRT  TIPNE
(re-flex arc)

1) M3 — $0IVTT — 2WPHwodo
0BT - 3C30w0d [TERES
R0207 3OAE JITERES

2) Mm% — F030w0& ITBRCET
— BOWOT FORE ITERET —»
2Nl S0BRES - FIRTTT

3) MOBT — FOWOP BIRD JTERES

ST JTERY
30Jowod TTFTWET
30300TT

4) mTT — WPl ITIRET
RoWOoy TOWH T[TBRET

CXSSNEIDES JTERCT -
30300 T
27. JFpEd0H0 I030FOHY WITTIM
3=
1) 22B3BR0D0o

2) ﬁﬁeﬁdrm
3) eméémée@om
4) 3 TER[ R

28. FRe010 WOMRO3TY Tomeddee3nh

T TIFR, HeHIF. DTS

1) %O To¥E CIPOZF LI0WOB/IY,
LTINS

2) XOB To¥T DVROT BToTT
BWOTONT), AODOSATTI

3) 3501 IROT e:?mzjsa’nol RN

4) %TQ YT, m@@d@ LROBD
p3fenlony mmgﬁ



SAT(K-10)

29.

30.

31.

32.

If the platelet count in the blood
reduced and redness in palms and
soles are seen the disease is said
to be

1) Dengue
2) Chikungunya
3) Birdflu
4) Typhoid

Colchicine is a chemical
substance used to bring about the
following process artificially

1) Polyploidy

2) Induced mutation

3) Intervarietal hybridization
)

4) Genetic modification

The surgery called vitrectomy for
human eye is done when there is

1) Decrease in the transparency of
lens

2) Decrease in the transparency of
aqueous humor

3) Decrease in the transparency of
vitreous humor

4) Loosing of elasticity in lens

The correct path of lymph flow is

a. Lymph capillaries — Lymph
vessels — Veins

b. Lymph capillaries — Lymph
vessels — Arteries

1) Only a is correct

2

3

4) Both aandb are wrong

Only b is correct
Both a and b are correct

)
)
)
)

12
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33.

34.

35.

Sphincter muscles helps to
release the food from

a. Large intestine to outside

b. Smallintestine to large intestine
c. Oesophagus to stomach

d. Stomach to small intestine

1
2
3

4

) aand b are correct
) b and ¢ are correct
) ¢ and d are correct
) aand d are correct

iIn Mendel’s dihybrid cross
experiment, he got dwarf plants
with white flowers, dwarf plants
with red flowers, tall plants with
white flowers, tall plants with red
flowers respectively. This order
can be represented by the
following ratio

1) 3:9:1:8
)1:3:3:9
)9:1:3:3
)3:9:3:1

A W N

Peripheral
includes

nervous system

1) Brain and spinal chord

2) Brain and 12 pairs of nerves
which starts from brain

3) Spinal chord and 31 pairs of
nerves which starts from spinal
chord

4) 12 pairs of nerves which starts
from brain and 31 pairs of nerves
which starts from spinal chord

13
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HISTORY

36. To establish French supremacy in
India, the Governor General
appointed in 1742 AD was

1) Dalhousie
2) Hastings
3) Canning

4) Dupleix

37. Nawab Anwaruddin of Carnatic

region was used as a pawn by
1) French and Spanish

2) French and British

3) French and Portuguese

4) British and Dutch

38. The districts that come under the
region identified as Hyderabad

Karnataka

1) Bidar, Gulbarga, Yadgir and
Raichur

2) Bellary, Gulbarga, Bidar and
Dharwad

3) Bidar, Davanagere, Raichur and
Gulbarga

4) Chitradurga, Bellary, Raichur and
Gulbarga

14
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39. The organization formed by
Balgangadhar Tilak in 1916

1) Home Rule League
2) Arya Samaja
3) Swaraj Party

4) Prarthana Samaja

40. The reason for sending Stafford

Cripps Mission to India by British

1) To pacify Indians for war against
Germany

2) Toform Constituent Assembly for
India

3) To oppose Gandhiji’'s Quit India
movement

4) To enquire about Jallianwalabagh
incident

41. The meaning of ‘Drain theory’ as

explained by Dadabai Naoroji
1) Encouraging imports
2) lll effects of the British rule in India

3) Transfer of Indian wealth to
England

4) Reduction of military expenses

15
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42. The establishment of the Supreme
Court in India was sanctioned by

1) Regulating Actin 1773
2) The Indian Council Act of 1861
3) Minto Morley Reforms of 1909

4) Government of India Act of 1935

The reason for the rise of trade
capitalists in India in 17" century

43.

1) Discovery of new lands
2) Political monopoly

3) Market for finished goods
4) Cheap labourers

44. The objective of bringing “Lord

Rippon lIbert Bill” was

1) Uniformity in the Judicial system
2) Economic Reforms

3) Religious Reforms

4) Transportimprovements

The Communist Government in
Russia was established by

45.

1) Mensheviks
2)
3)
4)

Tsars
Bolesheviks

Nazis

16
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GEOGRAPHY AND ECONOMICS

46.

47.

Which one of the following
groups, represents neighbouring
countries of India ?

1) Afghanistan, Pakistan,
Bangladesh, Srilanka

2) Persia, Pakistan, Nepal,
Maldives

3) Burma, Bhutan, Tazikistan, China

4) Malasia, Burma, Nepal, Srilanka

Some statements are given below

A. Siwaliks are a range of low
hills.

B. Shimla, Mussorie, Rani Khet
and Nainital are famous hill
stations of Greater Himalayas.

C. Mt. K2 is the highest peak in
the world.

D. Karakoram and Mt. Kailash
ranges are a part of Trans
Himalayas.

Which of the above statements are
true ?

1) A,BandD
2) BandC
3) AandD
4) B,CandD

17
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48.

49,

Assertion (A) : South West
monsoons start retreating from
North to South, by the end of
October.

Reason (R) : North India is hotter
than South India during the
months from October to January.

Select the correct option from the
given alternatives.

1) Both ‘A’ and ‘R’ are true and ‘R’
explains ‘A’

2) Both ‘A’ and ‘R’ are true, but ‘R’
doesn’t explain ‘A’

3) ‘A’is true and ‘R’ is false

4) ‘A’ is false and ‘R’ is true

Which of the following is/are the
method/s of minimizing soil
erosion ?

A. Shifting cultivation

B. Construction of check-dams
C. Contour ploughing

D. Afforestation

1) Aonly

2) B,CandD

3) BandD

4) Donly
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50. Match the National parks indicated
on the map of India, (I, Il , 1l
and IV) with their respective
names.

51.

A. Gir
B. Nagarhole
C. Jim Carbett

D. Kaziranga

1)I1-Cll-D lI-A IV-B
2)I-All-B IlI-C IV-D
3)I-BII-A lI-D IV-C
4)1-DII-B II-C IV-A

The following is the list of multi-
purpose river projects in India

A — Chambal
B - Tungabhadra
C - Bhakranangal
D - Narmada

Which of the following is the
correct sequence of projects from
North to South ?

1) B,C, D, A
2) B, D, C, A
3) C,A,D,B
4) B,D,A,C

19
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52.

53.

Assertion (A) : Sugar mills are
located close to the area of sugar
cane growing fields.

Reason (R) : Sugarcane loses
sugar content rapidly after 48
hours. It has to be moved quickly.

Select the correct option from the
given alternatives.

1) Both ‘A’ and ‘R’ are true and ‘R’
explains ‘A’

2) Both ‘A’ and ‘R’ are true, but ‘R’
doesn’t explain ‘A’

3) ‘A’is true and ‘R’ is false

4) ‘A’ is false and ‘R’ is true

The Orissa-Jharkhand belt is

famous for one of the following
varieties of iron ore.

1) Magnetite

2) Hematite

3) Limonite

4) Siderite

20
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54.

55.

56.

57.

Consider the following industrial
regions of India

a. Hooghly region

Mumbai — Pune region

Damodar valley region

Bangalore — Tamil Nadu region

Vishakhapatnam - Guntur

region

Chotanagpur Industrial region

g. Kollam - Thiruvananthapuram
region

h. Ahmedabad — Vadodararegion

Which of these lie within

Peninsular India ? Choose the
correct set from the following.

coppD

=h

1) b,d,eandg 2) a,b,dandh
3) b,d,candg 4) f,a,handc
Sea port located in Gujarat

1) Tuticorin 2) Kandla

3) Kochi 4) Paradip

Important feature of second green
revolution is

1) high-yielding variety seeds
2) nature—friendly techniques of
production

3) chemical
pesticides

4) machines in farming

fertilizers and

Panchayat Raj System is based on
the principle of

1) decentralization of power
2) concentration of power
3) centralization of power
4) distribution of resources

21
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POLITICAL SCIENCE, SOCIOLOGY
AND BUSINESS STUDIES

58. Total languages in the Eighth

schedule of Indian Constitution
1) 18

2)

3) 21
4) 22

59. Which one of the following is an

anti-national andeconomic crime ?

1) Smuggling

2)

3)
)

4) Economic inequality

Communalism

Corruption

60. In 1946, the features of Indian

foreign policy was explained by
1) Indira Gandhi

2) Dr. B.R. Ambedkar

3) Pandit Jawaharlal Nehru

4) Lal Bahaddur Shasthri

61. In 1971, India entered into 20 years

Treaty of Peace, Friendship and
Co-operation with one of the

following countries
1) USA

2) Russia
3) Srilanka
)

4) Bhuthan

22
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62.

63.

64.

65.

66.

The country helped India
financially for economic
development through five year
plans

1) Russia
2) Canada
3) USA
4) China

The member of the Security
Council of U.N.O.

1) 5
2) 17
3) 15
4) 7

Education is considered under
which List of Indian Constitution ?

1) Union List
2) State List
3) Concurrent List
4) Residuary List

‘The Untouchability Crime Act’
was implemented in

1) 1948
2) 1950
3) 1956
4) 1955

‘Chipko Movement’ took place in
1973 under the leadership of

1) Sunderlal Bahuguna

2) Medha Patkar

3) Baba Amte
)

4) Shivaram Karantha
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67. ThelIndian Government amended
‘Prohibition of Dowry Act’ in

68. The type of Account preferably

opened by Businessmen in a
Bank is

1)
2)
3)

)

4) Term Deposit Account

Savings Bank Account
Current Account

Recurring Deposit Account

69. All the Banking transactions in

India is not controlled by
1
2
3
4

) Indian Bank

) Reserve Bank of India
) Mother’s Bank

) Bankers Bank

70. The Founder and Chairman of ‘Jet

Airways’ is
1) Naresh Goyal

2) Dr. Prathap Reddy

3) Kiran Mazumdar Shah
)

4) Azim Premiji
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71.

72.

MATHEMATICS

If the line segments joining the
points (a, b) and (c, d) subtends a
right angle at the origin, then

which of the equation is correct ?
1) ac—bd=0
2) ac+bd=0
3)ab+cd=0

4) ab—cd=0

If the pair of linear equations
a, x+b,y+c, =0anda,x+b,y+c,=0
has infinite number of solutions

then the correct condition is

a_b _o
1) a2 b2 CE
) BB o
) a2 b2 02

a,bh
3) a2 b2

a o
4) a c
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1) ac—bd=0
2) ac+bd=0
3)ab+cd=0

4) ab—-cd=0
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73. If x=

then the value of

1
2.3

74. Inthetriangle PQR, MN || QR and

MN divides the triangle into two

QM
parts of equal areas, then PQ

26
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75.

76.

77.

78.

The arithmetic mean of two given
positive numbers is 2. If the larger
number is increased by 1, the
geometrical mean of the numbers
becomes equal to the arithmetic
mean of the given numbers. Then,
the harmonic mean of the given
numbers is

1)% 2) 2
1 3
3)5 4)5

If the quotient obtained on dividing
(x* + 10x® + 35x2 + 50x + 29) by
(x +4) is x3 —ax? + bx + 6, then the

a+b .
value of is

a-b
1) = 2 o
)38 ) 5
3 > g 22
) 17 )25

The value of cos 1° cos 2° cos 3°...
cos 179° is

1
1)@ 2)0
3)

—

4) -1

If the equations x? + ax + b=0 and
x2 + bx + a = 0 have a common
root, then the value of a+ b is

1) +1 2) 0
3) -1 4) 2
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79. Aperson walked diagonally across

80.

81.

82.

a square plot. Approximately,
what was the percentage saved by
not walking along the edges?

1) 35%
2) 30%
3) 20%
4) 25%

If 9 times the 9" term in an
arithmetic progression is equal to
15 times the 15" term in the
arithmetic progression, what is the
24" term?

1) 0
3) 15

2) 9
4) 23

If x, 2y, 3z are in arithmetic
progression, where the distinct
numbers X, y, z are in geometric
progression, then the common
ratio of the geometric progression
is

1) 3 2)%

3) 2 4)%

Sets A and B have 3 and 6
elements respectively. What can
be the minimum number of
elementsin AUB?
1) 9

3) 3

2) 6
4) 18
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83.

84.

85.

86.

87.

3 balls drawn randomly from a bag
containing 3 black, 5 red and 4
blue balls. What is the probability
that the balls drawn contain balls
of different colors?

3 1
1) 11 2)

3
3 2
) 11

; 4
> )

The smallest number which when
increased by 17 is exactly divisible
by both 520 and 468 is

1) 4697 2) 4656
3) 4663 4) 4680

The area of a square inscribed
inside a circle of radius 6 cm s

1) 36 square cm
2) 72 squarecm
3) 108 squarecm
4) 144 squarecm

If the sum of an arithmetic
progression is the same for
p terms as for the q terms, find
the sum for (p + q) terms.

1) 2 2) 4

3)0 4) 1

if 2P, = "P, + 6."P,, thenr is
equalto

1) 5 2) 11

3) 7 4) 6
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1) 36 2303 X0..0e.
2) 72 BTT F0.eNe.
3) 108 23T Fo..w0e.
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88.

89.

90.

In a graph the order of the nodes
A, B, C and D are respectively 5,
3,6 and 2. Then the number of arcs
and regions are respectively

1) 8,6 2) 6,8
3) 8,4 4) 4,8

If 3 equal circles of radius 3 cm
each touch each other, then area
of the shaded portion is

1)

(2—m)sgcm

o|G

2) g(@—n)sqcm

3) %(Zﬁ—n)sqcm

9
4) 5 (Va8 — m)sqcm

25 buses are running between two
places P and Q. What is the total
number of ways that a person can
travel from P to Q and return by a
different bus?

1) 625
2) 600
3) 576
4) 675
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Note : English version of the instructions is printed on the front cover of this booklet.




